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1. @4 F 7 B4 © (20 points)
(1) B34 & & 3 8148 % ¥ (aggregate expenditure) H# 2 & F48F 7 HHERXR T
FHBREEART
Q) ERERBEA T WwFEFLALGDP Z & AREZFETHAR?(AERA)

2HEHEAABE A, RAEMT KU &R SREHEM D% T MM (20 points)
(1) B8 A @& T - B2 (14,15) 0 {2483 (10,19) » XA HMHUEHGESF
(14,15) + M AFEFAL10,1N? AF—TERBL?ZFELS x? XES
Xz?
(2) %R RAFHB (=S5, p:=36) » #4F (12,16) - AR5 E R (37,3 mAEFE -
WA FTERBE?RFTILS 1? REF x?

3. x4 & 7T 8835 Fh(Production Possibility Frontier) » L4 & 447 : (20 points)
(1) AT EEREH Tio(x)  F(1630)URE6,1I0MBEEF AR A F84 0 2
(20,26) 8] & £ 77 7 # A (infeasible) » A1 3%A& 7T B iR4F 4 £(22,18) ? T Hi4F

(28,18) ?
(2) % x, Bl G oM o0 A TARM A &2 HAEEIE(36,10)8(16,30) » 7T 1A H B ka{T
ENCEE X

4. Comment on the followings and explain: (20 points)
(1) As marginal product is increasing, average product must be increasing too. As average
product is decreasing, marginal product must be decreasing, too.
{(2) Marginal cost is decreasing if and only if average cost is decreasing.
{3) Along a supply curve, its price elasticity can vary from less than one to greater than one.
{4) Suppose that the variable cost of medical service only shares a tiny portion of total cost. As
such, a medical doctor prefers to lower his charge in order to sell more.

5. Suppose a monopoly has the following revenue and cost data: (20 points)

Q AR Ve
1 5140 S60
2 107 110
3 92 156
4 80 200
5 66 243
6 50 288

(1) Determine the profit maximizing output and price.

(2) Suppose the total fixed cost equals $50. Determine the maximal profit. What is the
optimal output if the total fixed cost equals $150?

(3) Suppose the government imposes $16 tax per unit of output. What is the optimal output
(and price) for the monopoly? How much of the tax is borne by the consumer?
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